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リスニング・テスト　放送される英語を聞いて，₄₉～₇₆ のそれぞれについて

最も適切な答えを一つ選び，Ａ解答紙のその ₂（リスニング）に記入しなさい。問

題は🄐🄐，🄑🄑，🄒🄒の ₃ 種類に分かれていて，全部で ₂₈ 問です。いずれの問題も一

度しか聞くことができません。問題を聞き終えたら，ただちに解答を記入しなさ

い。一問の解答時間は約 ₁₀ 秒です。問題冊子にメモを取るとよいでしょう。

🄐🄐　Listening 1 〜 6（₄₉～₅₄）では，会話やアナウンスのあとに問題が続きます

ので，それに対する最も適切な答えを🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐

　Example

🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐 🄐🄐🄐 🄐🄐 🄐🄐🄐🄐🄐🄐 🄐🄐🄐🄐.

🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑  🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑  🄑🄑🄑 🄑🄑🄑.

🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒  🄒🄒🄒🄒🄒🄒🄒 🄒🄒🄒🄒🄒  🄒🄒🄒🄒🄒🄒🄒🄒🄒 .

🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓       🄓🄓🄓.

　Listening 1

₄₉．🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐 🄐🄐🄐🄐 🄐🄐🄐🄐🄐 🄐🄐🄐🄐.

🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑  🄑🄑🄑🄑🄑🄑🄑🄑🄑  .

🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒   🄒 🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒   .

🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓  ’tfitanymore  .

　Listening 2

₅₀．🄐🄐🄐🄐 🄐🄐🄐🄐🄐 🄐🄐🄐🄐🄐🄐.

🄑🄑🄑🄑🄑 🄑🄑🄑🄑🄑 🄑🄑🄑🄑🄑🄑 🄑🄑🄑🄑🄑  🄑🄑🄑🄑 🄑🄑🄑🄑🄑🄑.

🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒   🄒 🄒 🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒 .

🄓🄓🄓🄓🄓🄓🄓 🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓🄓    .

その ₂
ＡⅣ
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　Listening 3

₅₁．🄐🄐🄐🄐🄐🄐🄐. 🄑🄑🄑🄑🄑🄑🄑. 🄒🄒🄒🄒🄒🄒🄒. 🄓🄓🄓🄓🄓🄓🄓.

　Listening 4

₅₂．🄐🄐🄐🄐🄐:₃₀. 🄑🄑🄑🄑:₁₅. 🄒🄒🄒🄒:₄₅. 🄓🄓🄓🄓:₁₅.

　Listening 5

₅₃．🄐🄐🄐🄐🄐🄐 🄐🄐🄐🄐🄐🄐 🄐🄐🄐🄐🄐.

🄑🄑🄑🄑🄑🄑 🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑 🄑🄑🄑🄑 🄑🄑 🄑🄑🄑🄑🄑🄑🄑🄑🄑.

🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒  🄒🄒🄒🄒🄒🄒🄒🄒🄒.

🄓🄓🄓🄓🄓🄓 🄓🄓🄓🄓🄓🄓🄓 🄓🄓🄓🄓🄓🄓🄓🄓🄓.

　Listening 6

₅₄．🄐🄐🄐🄐🄐🄐 🄐🄐🄐🄐🄐🄐 🄐🄐🄐🄐🄐🄐 🄐🄐🄐🄐.

🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑  🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑 .

🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒  .

🄓🄓🄓🄓🄓🄓🄓🄓🄓  🄓🄓🄓.
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🄑🄑　Listening 7 〜 8（₅₅～₆₂）では，英語を聞いて，印刷された問題に対する最

も適切な答えを🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐Listening 7には問題が四

つ，Listening 8には問題が四つあります。例題はありません。

　Listening 7

₅₅．When did Kirk first get interested in designing roller coasters?

🄐🄐🄐🄐🄐🄐🄐🄐🄐  🄐🄐🄐🄐🄐  🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐.

🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑     .

🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒    🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒 .

₅₆．How long does it usually take Kirk to design his roller coasters?

🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐   🄐🄐🄐🄐.

🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑 .

🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒   .

₅₇．Of the roller coasters Kirk designed, which is his favourite to ride?

🄐🄐🄐🄐🄐🄐 🄐🄐🄐🄐🄐 🄐🄐🄐🄐 🄐🄐 🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐 .

🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑      🄑🄑🄑🄑.

🄒🄒🄒🄒🄒🄒 🄒🄒🄒🄒 🄒🄒🄒🄒🄒🄒🄒🄒🄒  🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒  .

₅₈．How does Kirk get ideas for designing roller coasters?

🄐🄐🄐🄐🄐 🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐    ’t been done before.

🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑   .

🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒        .
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　Listening 8

₅₉．Why does Masako Furusawa think it is important to use traditional 

techniques to make ｓʰｏｃʰｕ?

🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐   🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐    🄐 🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐

methods.

🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑 ’s cheaper to make ｓʰｏｃʰｕ using traditional methods.

🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒       🄒🄒🄒🄒🄒🄒🄒.

₆₀．How has the warmer weather affected Masako Furusawa’s ｓʰｏｃʰｕ 

production?

🄐🄐🄐🄐🄐🄐🄐🄐🄐 🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐   🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐    .

🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑           🄑🄑🄑🄑.

🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒       🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒 .

₆₁．What does Masako Furusawa say about owners of ｓʰｏｃʰｕ companies?

🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐         .

🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑    ’t in charge of making the ｓʰｏｃʰｕ.

🄒🄒🄒🄒🄒🄒🄒 🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒    🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒     🄒 🄒🄒🄒🄒🄒🄒

ｓʰｏｃʰｕ.

₆₂．How have ｓʰｏｃʰｕ companies changed in recent years?

🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐🄐     🄐🄐🄐🄐🄐🄐🄐.

🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑🄑        .

🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒   🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒🄒       🄒🄒🄒🄒🄒.
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🄒🄒　Listening 9 〜10（₆₃～₇₆）では，英語を聞いて，それに対して，印刷された

各文の内容が正しければ🄐🄐 TRUE を，正しくなければ🄑🄑 FALSE を選びなさ

い。なお，Listening 9には問題が八つ，Listening 10には問題が六つありま

す。例題はありません。

　Listening 9

You will hear a man talking to a woman about their university classes.  

Look at the ₈ statements below.  Decide if each statement is TRUE or 

FALSE.  If it is TRUE, choose 🄐🄐.  If it is FALSE, choose 🄑🄑.

₆₃．The woman is not going to study German this year.

🄐🄐🄐🄐🄐🄐🄐 🄐 🄑🄑🄑🄑🄑🄑🄑🄑

₆₄．The man has studied German before.

🄐🄐🄐🄐🄐🄐🄐 🄐 🄑🄑🄑🄑🄑🄑🄑🄑

₆₅．Now the man is studying French.

🄐🄐🄐🄐🄐🄐🄐 🄐 🄑🄑🄑🄑🄑🄑🄑🄑

₆₆．The man must take four credits of French and four credits of 

Spanish.

🄐🄐🄐🄐🄐🄐🄐 🄐 🄑🄑🄑🄑🄑🄑🄑🄑

₆₇．The woman needs only four credits of a foreign language.

🄐🄐🄐🄐🄐🄐🄐 🄐 🄑🄑🄑🄑🄑🄑🄑🄑

₆₈．The man is going to take Spanish class in the mornings.

🄐🄐🄐🄐🄐🄐🄐 🄐 🄑🄑🄑🄑🄑🄑🄑🄑

₆₉．The man and woman have taken other classes together at university.

🄐🄐🄐🄐🄐🄐🄐 🄐 🄑🄑🄑🄑🄑🄑🄑🄑

₇₀．The woman will take Spanish class on Tuesdays.

🄐🄐🄐🄐🄐🄐🄐 🄐 🄑🄑🄑🄑🄑🄑🄑🄑

16

6048_15_15EIG_M.indd   15 2023/12/04   9:13



16 ◇M15―2

　Listening 10

You will hear a news report about a man named Eric, who is working in 

Rwanda.  Look at the ₆ statements below.  Decide if each statement is 

TRUE or FALSE.  If it is TRUE, choose 🄐🄐.  If it is FALSE, choose 🄑🄑.

₇₁．The government stopped Eric’s father from fishing in a national park.

🄐🄐🄐🄐🄐🄐🄐🄐  🄑🄑🄑🄑🄑🄑🄑🄑

₇₂．Eric operates a fish farm that produces over ₁,₀₀₀,₀₀₀ fish a year.

🄐🄐🄐🄐🄐🄐🄐🄐  🄑🄑🄑🄑🄑🄑🄑🄑

₇₃．The fish farm is partially funded by a foreign government.

🄐🄐🄐🄐🄐🄐🄐🄐  🄑🄑🄑🄑🄑🄑🄑🄑

₇₄．The farm plans to sell fish to people living in the area at a discount.

🄐🄐🄐🄐🄐🄐🄐🄐  🄑🄑🄑🄑🄑🄑🄑🄑

₇₅．The farm helps people learn how to breed catfish.

🄐🄐🄐🄐🄐🄐🄐🄐  🄑🄑🄑🄑🄑🄑🄑🄑

₇₆．The farm is managed by villagers who live around the lake.

🄐🄐🄐🄐🄐🄐🄐🄐  🄑🄑🄑🄑🄑🄑🄑🄑

（以　下　余　白）
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